sapa:

buildingsystem
AREH TR MU ST

APLUS Windows & Doors Ltd

Standard

[ Q50016 TYPE 01 Quantity : 1 Hutton Group |
Service|Glazed
580 1215 Width[ 1795
Height{ 2410
1 Range|SBS-iX-0403-2015
System| STORMFRAME
Frame model| ST408 Composite Frame

Glazing heads

STANDARD BEADS

Dimension method

Qutside measurement

material
Mitred| Standard
g : Sguare Cut| Standard
™ Colour| SP [Single Colour]
Elevation Viewed|Qutside
1795
1. Fixed light 202/13 Flushbglts in Etched Silver

6/16/6.4 TG/LAM-SCA-SwissV

202/211 Hook Lock + Threshald Balt

2. RH ANTIFINGERTRAP + 3T409 Stile 1155

Handle interior + exterior

Dorma DDA Closer {Uses Profile ST415)

202/107 2095mm Tube

90 Hold Open

Handle in SP

End Load Arm

No Additional Hook Locks

Standard Cylinder

6/16/6.4 TG/LAM-SCA-SwissV

202/68 Cylinder guard

Messages

Stile Length Over 2150mm - Na Weather Perfomance

Outer frames
I: o 1 by.
2708 ES THRESHOLD 1 1,140.0]1 | i B
8T4086 SP POCKET TRANSOM/CILL 1 505.0] | | B
5T408 8P STANDARD MULLION 1 505.0] | | T
S5T408 SP STANDARD MULLION 2 2,410,001 | [

E A COMPLIANT DOOR CLOSER
ST510 SP TRANSOM 1 1,140.0] | | T

Mullion/Transom

Besc
STANDARD MULLION

TOP RA

T
BOTTOM RAIL L B |2
STANDARD STILE 1 L L |2
AFT STILE 1 C 1 R_ |2

POCKET BEAD

. )
N
i
o
X
o

Additional profiles

16/06/2015 10:54:08

Page 1 of 12

Standard (2.7.5})



sapa:

buildingsystem
RO e —

APLUS Windows & Doors Ltd

Standard

TYPE 01

Quantity : 1

Hutton Group |

2816 3P WEATHER BAR i 10180 380 ] 380] B |2
ST201 SP MULLION BACKPLATE 24100 | i L
ST207 SP MULLION BACKPLATE 1 241000 1 i L
ST222 SP AFT ADAPTOR T 3370.0, | i R |2
ST222 SP AFT ADAPTOR 1 23100 | i R 12
ST273 SP BEAD | 2.104.0] i R |2
ST223 SP BEAD T 21040 1 i L2
STA04 SP AFT JAME ADAPTOR 33210 1 i R |2
ST407 SP WEATHER GLOSER PLATE 7 865.0] | ] T
STP210-10 BK STILE NOSE TRIM PACK 1 2.310.0] | 1 E
STP211-BK.10 __ |BK WEATHER STRIP CARRIER PACK 1 1087.0 | i B2
STP217-10 BK POCKET FILLER PACK 11 2331.0 | | L1z
STP237-10 BK AET STILE NOSE TRIM PACK 11~ 23100 | | R |2
ccessories
P rip
202/107 SP SP TUBE HANDLE COMPLETE 2095mm 2

CONCEALED CLOSER 90deg HOLD
202/188 N/A OPEN (EN1 TO EN4) !
2027211 NIA HOOK DEADLOCK 40mm BACKSET 7
D072 NIA E%F}IMA ANTI FINGER TRAP CLOSER ] )
202/505 NIA HPD THRESHOLD BOLT 5
202/68 S CYLINDER GUARD S/S 1 7
202/7002 NA 4mm WASHER PACKER ] 7
202/ /ML VL /I;’QK:AKING BLATE FOR SIDE LOAD ; )
204/26/1/ES ES EURO PROFILE CYLINDER 7 7
DEP141-1000 NIA SPRING CLIPS PACK 7
DFP199.100 NIA Eg.g é( 7 PAN POZI S/T S/S SCREW s
DFP267-1000 BK HOLE PLUG 9mm PACK 3

No.8 X 172" CSK POZI SIT 575
DFP478-100 N/A NSNS 8

No.10 X 3/4" PAN POZI S/T S/5
DFP508-100 N/A N o oA e 1 2
oo A ER’S é( 2" CSK POZ1 S/T 5/S SCREW .

' M6 X 16 HEX HEAD S/8 MACHINE

MMG16HSS N/A e
NNIBZN NA NUTSERT M8 ZINC PLATED

No.6 X 1/2" PAN POZI S/T S/S
STB12PPSS N/A ROREW CYPE A8

. CLOSER COVER PLATE - EQUALITY

STC183 SP ACT COMPLIANT 1
TP 10510 A ESELOM SHOE TAPPING PLATE )
STP104-10 N/A TOP ARM TAPPING PLATE PACK 7
STP111-1000 N/A BOTTOM SHOE SPACER PACK 1
STP112 BK MASTER LEAF ACCESSORY PACK ] 2

M8 X 25 CSK POZI 5/S MACHINE
STP115-100 N/A N 4

M5 X 45 CSK POZI 575 MAGHINE
STP119-100 N/A BN PACK 1 2

8/32" UNC X 5/16" CSK S/S MACHINE
STP121-100 N/A 8 o oA 3

No.12 X 1 1/2" PAN POZI S/T 578
STP122-100 N/A NSCLANEN 4
STP123.100 A gggix 1" PAN POZI S/T S/ SCREW y

16/06/2015 10:54:08

Page 2 of 12

Standard (2.7.5)



sapa:

buildingsystem
SnonTETIAAL AR ST

APLUS Windows & Doors Ltd

Standard

Q50016

TYPE 01

Quantity : 1

Hutton Group |

Al NG PACKER
S§TP126-50 N/A PACK 2
STP127-100 N/A M6 PLAIN S/ WASHER PACK 2
No.8 X 1 3/4" PAN POZ| S/T 8/8
5TP144-100 N/A SCREW PACK 5
STP156-100 N/A M5 PLAIN S/5 WASHER PACK 2
ARMOUR STRIKE PACK (SINGLE
STP201 N/A DOOR} 1 2
Gaskets

105/54 GY WOOLPILE 6.9 X 9.0 WITH FIN (M) 1 228M[ | |

STC110 BK QLON 69 950 (350M) 1 9.26 M | | 2
STC164/100M/BK  |BK FLIPPER SEAL 1 217M | | 2
W264 BK GLAZING WEDGE - BLACK (100M) 1 11.47 M 1
W266BK BK GLAZING WEDGE (100M) 1 6.20 M; 2
W274/100M/BK BK E GASKET 1 5.20 Mj 2
Fillings

6/16/6.4 TG/LAM-SCA-
1 28mm @ 55.9 SwissV 524 2,329 1-0
6/16/6.4 TG/LAM-SCA-
1 28mm @ 55.9 SwissV 955 2,134 20
(1) -> Glazing price not found
16/06/2015 10:54.08 Page 3 of 12 Standard {2.7.5)



sapa:

buildingsystem
APCHTECTUAAL LM BLUDOHS

APLUS Windows & Doors Ltd

Standard

| Q50016 TYPE 03 Quantity : 1 Hutton Group |
Service|Glazed
"1 Width| 1023
Height) 2410
Range| SBS-iX-0403-2015
System| STORMFRAME
Frame model| ST408 Door Frame

2440

1023

Glazing beads

STANDARD BEADS

Dimension method

Qutside measurement
material

Mitred

Standard

Square Cut

Standard

Colour

SP [Single Colour]

Elevation Viewed

Quiside

1. LH ANTIFINGERTRAP + ST409 Stile 1163

202/211 Hook Lock + Threshold Bolt

Dorma DDA Closer {Uses Profile ST415)

Handle interior + exterior

90 Hold Open

202/107 2095mm Tube

End Load Arm

Handle in 8P

Standard Cylinder

No Additional Mook Locks

202/88 Cylinder guard

6/16/8.4 TG/LAM-SCA-SwissV

202/13 Flushbaolts in Etched Silver

Messages

Warning - Normal Transem will not work with DDA Closer

Stile Length Qver 2150mm - No Weather Perfomance

ES THRESHOLD 1 92301 | | B
ST408 SP STANDARD MULLION 2 241001 | |
ST511 SP POOR CLOSER TRANSOM 1 92301 1 i T

TOP R

Sp BOTTOM RAIL i B 1
SP STANDARD STILE 1 R 1
ML AFT STILE 1 L 1

ST223

beads and set up profiles

5T223

Additional profiles

2816

1 801.0[ 38.0 | 38. B 1
ST222 SP AFT ADAPTOR 1 232601 | | L 1
ST222 SP AFT ADAPTOR 1 232600 | | L 1
51223 SP BEAD 1 21200 | | R 1

18/06/2015 10:54:08

Page 7 of 12

Standard (2.7.5)



sapa:

buildingsystem
ARCHITECTIRAL BLUM|VIUM S0ELTIONS.

APLUS Windows & Doors Ltd

Standard

[ Q50016 TYPE 03 Quantity : 1 Hutton Group |
11 2.120.0] | ] L[
ST404 AFT JAMB ADAPTOR 1 2,337.0 | | L 1
ST407 WEATHER CIL.OSER PLATE 1 573.0 | 1 T
STP210-10 STILE NOSE TRIM PACK 1 2,328.0 | I R 1
STP211-BK-10 BK WEATHER STRIP CARRIER PACK 1 870.0 | | B 1
STP217-10 BK POCKET FILLER PACK 1 2,347.0 | | R 1
STP237-10 BK AFT STILE NOSE TRIM PACK 1 2,326.0 | I L 1
Accessories
h202/107 SP SP TUBE HANDLE COMPLETE 2095mm 2
CONCEALED CLOSER 90deg HOLD
202/188 N/A OPEN (EN1TO EN4) 1 1
202/211 N/A HOOK DEADLOCK 40mm BACKSET 1 1
202/234 N/A E'%\I}MA ANTI FINGER TRAP CLOSER 1 1
202/505 N/A HPD THRESHOLD BOLT 2
202/68 S CYLINDER GUARD S/s 1 1
202/7002 N/A 4mm WASHER PACKER 1 1
202/81/ML ML RQ[C\:AKING PLATE FOR SIDE LOAD 1 1
204/28/1/ES ES EURO PROFILE CYLINDER 1 1
DFP141-1000 N/A SPRING CLIPS PACK 2
No.8 X 1 1/2" PAN POZI SIT S/S
DFP180-100 N/A SCREW PACK 3
DFP267-1000 BK HOLE PLUG 9mm PACK 3
No.8 X 1/2" CSK POZI 5/T 5/8
DFP478-100 _ N/A SCREW PACK TYPE B 8
No.10 X 3/4" PAN POZI S/T S/5
DFP508-100 N/A SCREW PACK 1 1
DFP619-100 N/A EKCBP? 2" CSK POZI S/T 8/8 SCREW a
M& X 16 HEX HEAD S/S MACHINE
MMB16HSS N/A SCREW
NMBZN N/A NUTSERT M8 ZINC PLATED
No.6 X 1/2" PAN PGZ] S/T 8/5
3ST812PPSS N/A SCREW {TYPE AB)
CLOSER COVER PLATE - EQUALITY
STC193 SP ACT COMPLIANT !
STP103-10 N/A EE-CF;LOM SHOE TAPPING PLATE 1 1
STP104-10 N/A TOP ARM TAPPING PLATE PACK 1 1
STP111-1000 N/A BOTTOM SHOE SPACER PACK 1
STP112 BK MASTER LEAF ACCESSORY PACK 1 1
M6 X 25 CSK POZI §/S MACHINE
STP115-100 N/A SCREW PACK 4
M5 X 45 CSK POZI §/S MACHINE
STP119-100 N/A SCREW PACK 1 1
8/32" UNC X 5/16" CSK §/S MACHINE
STP121-100 N/A SCREW PACK 3
No.12 X 1 172" PAN POZI S/T S/5
STP122-100 N/A SCREW PACK 4
STP126-50 N/A éRéLPJ(STABLE GLAZING PACKER 2
STP127-100 N/A M6 PLAIN §/8 WASHER PACK 2
No.8 X 1 3/4" PAN POZ] S/T S/S
STP144-100 N/A SCREW PACK 5
STP156-100 N/A M5 PLAIN 5/5 WASHER PACK 2
ARMOUR STRIKE PACK (SINGLE
STP201 N/A DOOR) 1 1
Gaskets

16/06/2015 10:54.08

Page 8 of 12

Standard (2.7.5)




ﬁm APLUS Windows & Doors Ltd Standard

| Q50016 TYPE 03 Quantity : 1 Hutton Group |
105/54 GY VWOOLPILE 6.9 X 9.0 WITH FiN (M) 1 1.85 M ' | |

STC110 BK QLON 68 850 {350M) 1 9.33 M | | 1
STC184/100M/BK __[BK FLIPPER SEAL 1 1.74 M 1 | 1
W266BK BK GLAZING WEDGE (100M) 1 5.80 M 1
W274/100M/BK BK E GASKET 1 5.80 M| 1
Fillings

(1} -> Glazing price not found
(2) - Glazing orpanel : max. surf. passed

16/06/2015 10:54:08 Page 9 of 12 Standard (2.7.5)



1215

a8 mm

WD18 9EZ Telr 01923 225855

e el
> —
=} jie]
& ~
a
p <.
(=]
4795 B T
o
1785
= =T = =
t
= il i @ __ff—=d ﬂﬂ\@ N £
[ | [ £
; * _ o
; (o]
—
g e 20 WY m__.\r.ﬁ! La g % 1} 4
ro mm
A PLUS ALLMINIUM FRODUCT NAMELS) { SYSTEM DETAILS: FROJECT: 155LE DATE DESCRIFTICN OF REVISION CHECKED DRAWK: sL
Units 14-18 oar Park ind. Cantre Q5016 [l 16062016 Issued for Approval
Tolpits Lane SCALE: 1208 12 @A3
Waiford STORMFRAME DRG. TITLE! . ]
Hertfordshire Elevalion & Cross Seclions bravenc no: 3 TYPE 81




